Al 1A Ego-redistEgithub_E LEEBUKBIE T golangkiredisE i, SEMAZIXTENTEFLRET —LFHHNR, S
IEAT D8RR, 27 —LiE, RELET/ITESINIMNEBEENGL, X TEE, FUBTRIE, Wi, BEIRE
EENE R —ER R ELETIRECHEE,

BT go-redis,RiZBUN TFRIB(ERER) :

SpeedLimit (k times t time.Duration)
r := RedisInstance()
key := + k
r.Do(

r.Incr(key)
r.Expire(key, t)
e = r.Dol ) .Err()

XMRBE—RESLS, JUBEBEMNTES, BkeyEFMHN+1, EEIREX T keyl I IHRT 8], ARRRES,
WRIRITITEINRIE, RELIIAAR1EE: err: ERR EXEC without MULTI B9£8iR1B . N ASEILX M EIR?

HAITESKMT, FEF:transactionfEgo-redisiiclose issueFl|RHEZIE M TFHIXTIE:

ClusterClient: no way to execute transaction without | Newis
WATCH/UNWATCH #435

(G4« LW flyingmutant opened this issue on 5 Dec 2016 - 11 comments

g flyingmutant commented on 5 Dec 2016 +@ o Assignees

No one assigned
Regular Client has Watch() , whichis doing MULTI / EXEC (no WATCH / UNWATCH ) when no keys

are specified. JNEFIR H (o) B

Labels
This behaviour is impossible to obtain using ClusterClient : you have to specify at least 1 key (so None yet
that master node can be selected), but you have no way to avoid passing it to Client.Watch . Thus,
every transaction is wrapped in WATCH / UNWATCH pair.

Projects
Workaround (use a bogus random key with the hash slot you want) is not very elegant. None yet

Milestone
vmihailenco commented on 5 Dec 2016 « edited ~ Contributor =~ +(g) - No milestone
Why you are not using Pipeline? AFAIK it is the same as Tx without Watch. Notifications Cust:

{EE BUal g~ FpipelinefZ =, FHERW, i EERBEXNIR QA NSFERER
4») Subscribe
g flyingmutant commented on 5 Dec 2016 Author  +(@) - this thread.

| haven't tried it — but looking at ClusterClient.pipelineExec() /
ClusterClient.execClusterCmds() , | don't see MULTI / EXEC wrapper anywhere. Am | missing
[
Yy

anything? RANFHIEEClusterClient, BEHEEEL RITERM BEIH e ﬂ

3 participants

vmihailenco commented on 5 Dec 2016 « edited ~ Contributor ~ +(@&) -

It does not, but AFAIK it does not matter much. Redis is single threaded so commands batched
together with Pipeline will be executed without interruptions, which is the same as executing them
with multi/exec. XMEE RIS tredisE RLEFER, ApipelinefIEZX AT ALK, WRIRMulti/execEBZELRZ

g flyingmutant commented on 5 Dec 2016 Author +@

Can you please point me to the place in the code where MULTI / EXEC is applied, for non-
transactional pipelines? I can only see itin tx.go . iomemgy \SForERHRE, BIETEGRBRcoEMsplitRITR T VEN?

I think you are wrong about pipelines guaranteeing atomic execution. There are no «start;: g, 122 Fpipeline il EFHITHE RLEEIE B,
pipeline»/«end pipeline» markers, so redis can not provide such guarantee (imagine what will

happen if your pipeline is split between many TCP packets?). Pipelining is a network optimisation,

and nothing more.

vmihailenco commented on 5 Dec 2016 Contributor +@

There was a typo in my previous my message "it does" -> "it does not" :) Anyway | will try to find a
way to not require keys , but | don't see any atm.

imagine what will happen if your pipeline is split between many TCP packets

| don't insist, but | believe that in practice it is not possible that Redis Server can receive and
process batched commands in parts. | don't know much about TCP, but | think different packets are
merged together before data arrives to Redis.

FEANEBRRIERZ R X LR B K Aredis serverZ BINIZEEH, ABERANTEZIRosHIEIKE PRI X 6] # !

g flyingmutant commented on 5 Dec 2016 Author  +() -

Would you accept a PR which adds something like ClusterClient.MasterNodeForKey(key string) ?
—&48, NIFRAEREPR

vmihailenco commented on 6 Dec 2016 Contributor +@

| am not sure. Why instead of cluster.MasterNodeForKey(key string).Watch(fn) not to use

cluster.Watch(fn, key) ? How the former is better? VeEEE I TARZHSIREA? SR EIEPRT

g flyingmutant commented on 6 Dec 2016 Author  +(@&) <

cluster.Watch(fn, key) always passes key to slotMasterNode.Watch(fn, key) , whichis what |
want to avoid. It can be possible to add another cluster.Watch() variant, but it does not look very
elegant.

The best thing would be to expose redis transactions as a first-class API, and not something hidden
behind watch special-case. But that is a much more invasive change.

NS ETIE, AEBESNETIHIRTIFETNFHINR. - -

= bmarini commented on 10 Dec 2016 +@ o

i}

L

The best thing would be to expose redis transactions as a first-class API, and not something
hidden behind Watch special-case. But that is a much more invasive change.

Agreed. Also | would prefer the regular client expose redis transactions in a more obvious way too.
The fact that you must use watch() with no watched keys to create a normal "MULTI ... EXEC"
transaction is not clear.

vmihailenco mentioned this issue on 13 Dec 2016
Add TxPipeline. #444
EE XA, 1BEFE—%, BEHBE T4, RINT T TxPipeline,
[FEtEmergeX|E DT
vmihailenco commente Dec 2016 Contributor = +(&) *--

| like the idea. | already added TxPipeline to normal Client - #444. ClusterClient requires much
more work though...

MEBERIAFH, go-redisiRft T277K, Pipeline, TxPipeline , X 2Rt ARINE?

Pipelinefl1Z E X &EHE, %A {EMPipelinefredisEFiEH, REGEIXHFMN:

REH< 1
BEIESR 1

5o RE
[5]

on 3

A D
NN

P 4% Redis-Server

RiEH 3
BEIESR 3

WR(EA T Pipeline, BBARIESUT:
1.REMR

2. 95 FHERA (1)

3. HIT

4IR[EIER

X5 FENXBIETF, IBZMad— e LkEserver, REELER, BV TERNE, MEBARSH—LE,
*FPipeline—LE34 ;580 -

] LAMEAPipelinetZ I E A S RFRBR EREEANFTERRES REMEHTHXH, BEREZLA:
o REHMEMLERTFIE PipelineRIERFIERY. (X LEBER ZIRP AT

< XE
o BAHMEDSE— TSN Z T key,PipelineZiFZ 1 <.
o [FAH =02 ERedishRFBimz 15X, MPipelineFEAR SRS & FixAIH [E]) LT,

PipelineB3EA05 < NI BESH Tl ZN— R EEPipelineHiEE1T A, — A EESE B IHINE SN, B—AESIE
i —ERNMEEZE, rT UE— IR B & K2 a2 BPipelinelf 7 B Z /X% /) \HIPipeline 3k 5E X,

1]

Pipelinefl L##¥E, BBATxPipelineRR{t4AIR? EERIETX, X—FBMEESS, BNEITESEMIPipeline, ArAIY
TxPipeline, AJAZgo-redisiEIBRIGIE, a0F:

(c *Client) TxPipelined(fn (Pipeliner) ) ([1Cmder
c.TxPipeline().Pipelined(fn)

(c *Client) TxPipeline() Pipeliner {
pipe := Pipeline{
exec: c.processTxPipeline
}
pipe.statefulCmdable.setProcessor(pipe.Process)
&pipe

(c *Client) pubSub() *PubSub {
MIRTBEYERE £t o] BAE H iR TxPipelinef91T 8 Pipeline—i, (B2 T —LEREEZIFTES,

baseClient
opt *0ptions
connPool pool.Pooler
limiter Limiter

process (Cmder)
processPipeline ([1Cmder)
brocessTxPipeline ([1Cmder)

onClose ()

(c *baseClient) init() {
c.process = c.defaultProcess
c.processPipeline = c.defaultProcessPipeline
c.processTxPipeline = c.defaultProcessTxPipeline

(c x*baseClient) String()
fmt.Sprintf( c.getAddr(), c.opt.DB)

(c xbaseClient) newConn() (xpool.Conn ) {
cn, err := c.connPool.NewConn()

arr |— J

iscytasde faultProcessTxPipelinc|E Mt xPipelineProcessCmds

(c xbaseClient) txPipelineProcessCmds(cn *pool.Conn, cmds []Cmder) (
err := cn.WithWriter(c.opt.WriteTimeout (wr *proto.Writer) {
txPipelineWriteMulti(wr, cmds)
Nl
err != {
setCmdsErr(cmds, err)
err

}

err = cn.WithReader(c.opt.ReadTimeout (rd *proto.Reader)
err := txPipelineReadQueued(rd, cmds)
err != {
setCmdsErr(cmds, err)
err

pipelineReadCmds(rd, cmds)

err

txPipelineWriteMulti(wr xproto.Writer, cmds []Cmder)

multiExec := make([]Cmder (cmds)+2)

multiExec (multiExec, NewStatusCmd (

multiExec (multiExec, cmds...)

multiExec = (multiExec, NewSliceCmd(
writeCmd(wr, multiExec...)

REEIHEERT:

multiExec := make([]Cmder (cmds)+2)

multiExec (multiExec, NewStatusCmd (

multiExec (multiExec, cmds...)

multiExec (multiExec, NewSliceCmd(
writeCmd(wr, multiExec...)

FIXBENUNFEE T TxPipelineii @ FIAZ15E S, EIFBERR—FIRRNGT TEHXERAE, 1842152 err: ERR
EXEC without MULTI f9$5iRi2/RIa)qR ,
SpeedLimit (k times t time.Duration)

r := RedisInstance()

key :=

r.Do(

r.Incr(key)

r.Expire(key, t)

e = r.Do( ).Err()

RRSIEE (X TEIEENTIRIT —TgetiRfE, BEMIFRT, FMUESSTHRtFRE):

| | tcp.stream eq 30 ;‘21 o
lo. Time Squrce Destigatior auth =" A
3302 31.512131  10.354 <2 M 11K SX -
3311 31.590972 le¢.™® % 01". A " ok T
3312 31.591075 2.0l 2 ME li.kd 2 = *2
3313 31.592600 §". "4 "0 LW B". "7 % $3
3325 31.674668 [l.Fal " ma Di.Di T2E0 B get get key
.675481 B-. = TN $16 /
3327 31.675555 \ L . speed_limit_test
3328 31.675634 N, W "I WA B%. =0 % i;l

3329 31.676424 .MM LK1 I
3339 31.768291 mt. ™ % el R R MULTI b__ HEES
3340 31.768349 . DK LK1 = 40K
3341 31.769050 1. A "I RE §T. Tt 1 40

3345 31.852162 [Qj.Hol X = 11.1H X2 $4
3346 31.852230 1"« " "1 AW B, =" %, | incr
3347 31.852682 Qi 1M T3 M 1i.40 LE o 516

33736 31.942191 16, . = |

» Frame 3329: 92 bytes on wire (736 bits), 92
» Null/Loopback

speed_limit_fest q
T +QUEUED queue

AR ERiAredisBREIETIY, FANE NI RINENRER, BTTERIGT, f&HexpirelRfEfE S — Meplie,
AR T R IE—RIBE,

FEMBL1Tsnifferg&:
®@ 0 2. go-sniffer 100 redis

~ go-sniffer 1o@ redis

tcp and port 6379
# Start new stream: 127.0.0.1->127.0.0.1 58162->6379
# Start new stream: 127.0.0.1->127.0.0.1 6379->58162
MULTI

incr speed_limit_test
# Start new stream: 127.0.0.1->127.0.0.1 58163->6379
# Start new stream: 127.0.0.1->127.0.0.1 6379->58163
expire speed_limit_test 60

EXEC

AIMEHER, BIIREEITH, PITHSESHERTRIES, TENCUHEAZHRIIRITH,

BEsAR0LE, FA1{ERAPipelinefIZNEAE—FUBBAT, FHEBAPipelinefIZV1T, LEItHiR T PipelingfERA :
SpeedLimit (k t time.Duration) (e
r := RedisInstance()
key :=
pipe := r.Pipeline()
pipe.Do( )
pipe.Incr(key)
pipe.Expire(key, t)
pipe.Do( )
e = pipe.Exec()

HIREEEL :
® O
~ go-sniffer 1o@ redis

tcp and port 6379
# Start new stream: 127.0.0.1->127.0.0.1 56043->6379
# Start new stream: 127.0.0.1->127.0.0.1 6379->56043
MULTIL

incr speed_limit_test

expire speed_limit_test 60

EXEC

2. go-sniffer 100 redis

BINHT, 1B E2IIREEITNEEdll+e = nil ,5x/51R[E] T —redis: can't parse int reply: "+QUEUED"HIHIRIE R,
BREaHRINMIT.

AN S B TxPipeline R T
SpeedLimit(k times t time.Duration) (e
r := RedisInstance()
key := + k
pipe := r.TxPipeline()
pipe.Incr(key)
pipe.Expire(key, t)
e = pipe.Exec()

BT _EER D FEAETxPipeline P EARZIN T multi/execESiTE, FIMBEMNAZEERIVIREDo.("multi"),Do.
("exec"), FIREUEEWT:

# Start new stream: 127.0.0.1->127.0.0.1 63422->6379
# Start new stream: 127.0.0.1->127.0.0.1 6379->63422
MULTI

incr speed_limit_test

expire speed_limit_test 60

EXEC

I

tb#cPipeline, TxPipelineEAERETHA, BERXEBREFE—TEE (Aft4PipelinefZzxRIMITESRINER&REIR
[B] T —“ redis: can't parse int reply: "+QUEUED"fJ45iR (S 212! )

Pipeline A4 Z#F5E5, EAtMRT, BXEfRPipelinetRNAYNIIXF = EH 2 ERAUEIN(multi/exec)EHF <, MTH
FRNEREESESTHEE—TREFRE, EREMRIIAITIREIHSIRE—parsingZLBUE5I1R, RAEBRITRINT,
XA A] DA IR Nissuela)[algo-redisfE & TEPipelinetE I T B S Feh A B E S N4 XX (e a1,
| := r.Pipeline()

Do ( )

.Decr(key)

.Incr(key)

.IncrBy(key

.Decr(key)

.DecrBy(key )

.IncrByFloat(key

Do ( )

= pipe.Exec()

RIBFAONIN, MRIFERITES, ES2HXNEEULEMNEFIRE, BBARINRERTXPipeline, —LEFIRIEEIE
Pipeline, TxPipelinef2z{ FRIEINE LI, #HEERFIRIEGXAHaltcpitis, BENGIERITIRERNISENHIT
tcp=/RiEF.,

EF—FBIEEMNEA: err: ERR EXEC without MULTI IERIE TR EAIEN 2 EE BER THITESRE, ES52HX
BEREFIRE, MAT REF, SMEEMH—ZERIE, &EMAT ERR EXEC without MULTI B91%., *TFiX
— R E— AT AR ERENNEREH,

L\XJ:O

JIIRZRTEIY




